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BEAREK SH2FEEREZ S LA RTER THETS (B2

& kg g - BKsTiE B H = B {f & % =
EEIEE 50, 263, 734
[iTR] 50, 263, 734
BEYHET 50, 138, 734
MBIk T 21,279, 865
MBIk T 24, 271, 900
1 BEERPHCHLIEE (1) ¢$300 L=13.0m 41.00 199, 600. 00 8,183, 600
Py
2 BRERPHCHIEZ (2) ¢$300 L=14.0m 34.00 205, 700. 00 6, 993, 800
Py
3 BEERPHCHIHEZ (3) $300 L=16.0m 6. 00 226, 100. 00 1, 356, 600
Py
4 BEERPHCHIEZE (4) $350 L=16.0m 9.00 226, 100. 00 2,034, 900
Py
5 BEERPHCHLEZ (5) AFEH300 L=14.0m 10. 00 205, 700. 00 2,057, 000
Py
6 BXERPHCHiEZ (6) AFEH350 L=14.0m 16. 00 205, 700. 00 3,291, 200
Py
T HHE > (PHCHUBZEER) 1.00 354, 800. 00 354, 800
=
IvY-MERE L 2,638, 965
8 avhY-MERIE L - FEA (1) &Hav-+ 71.00 17, 210. 00 1,221,910
m3
9 H)-+ERERL - A (D) &HavI-+ 52.00 17, 210. 00 894, 920
m3
10 gk/HavY)-bakEd (1) T &~ B &R IR GRHEER) 71.00 4,245 301, 395
m3
11 8kERIV)-I0EE (2) LB ~BE R (R 52.00 4,245 220, 740
m3




BEAREK SH2FEEREZ S LA RTER THETS (B2

LY 369, 000

12 8y )-MRAS & (1) 71.00 3, 000. 00 213,000
m3

13 kI VY)-MRAS & (2) 52.00 3,000. 00 156, 000
m3

LT 2,501, 868

TRMEHI 803, 250

14 #EA1 2,700. 00 297.5 803, 250
m3

TRMERL 1,698,618

15 BRL 3,700. 00 197.5 730, 750
m3

16 TR EAH THmYi5 1, 400. 00 191.9 268, 660
m3

17 L& TH YIS~ EITHHR 1,420.00 492. 4 699, 208
m3

MBI HET 4,702, 781

MBI HET 2,916, 526

18 tAvHEE# (1) ¢ 1,000 L=0. 25m 3.00 9,787.00 29, 361
m3

19 tAVNEEM (2 61,000 L=0. 55m 22.00 9, 787. 00 215, 314
m3

20 tAVMEAH Q) ¢ 1,000 L=1. 00m 2.00 9,787.00 19,574
m3

21 tAVNERM (4 ¢ 1,000 L=1. 80m 88. 00 9, 787. 00 861, 256
m3

22 tAVMEAH () ¢ 1,100 L=0. 25m 8.00 9,787.00 78, 296
m3

23 tAVMNEAH (6) $1,100 L=0. 35m 4.00 9, 787. 00 39, 148
m3




BERNRE

TH2FEERRE

ALANESERIHEIS (E2R)

24 HAVMEARO) 61,100 L=0. 55m 1.00 9,787.00 9,787
m3

25 tAVMNEAH(8) 61,100 L=0. 65m 9.00 9,787.00 88, 083
m3

26 tAVMNEARH (9) $1,100 L=1.80m 161.00 9, 787. 00 1,575, 707
m3

U9~ MEREE L 420, 255

27 EERIVY- M REH LB ~BE R (R 297.00 1,415 420, 255
m3

wor & 1, 366, 000

28 Y- rROS B 683. 00 2, 000. 00 1, 366, 000

t

HEIRELT 10, 098, 165

TAITI MRS R AR R L 4,850,104

29 TRITMMEREERRIEE - #EaA (1) t=15cmLA T 6, 390. 00 528. 1 3,374,559
m2

30 TRAITMMEREERRIEE - A (2) t=15cmLA T 1, 450. 00 528. 1 765, 745
m2

31 TAITMRERENRR (1) BIBER~BERERESR t=15ecmA T 319. 00 1,820 580, 580
m3

32 TAITMRERENRR (2) BIBER~BERERESR t=15cmAT 71.00 1,820 129, 220
m3

U9~ MiREER L 2,792,161

33 U)Y-MREERE - FEIA (1) t=15cmATF 855 1, 350. 00 750. 2 1,012,770
m2

34 Y- MREERE - FEIA (2) t=15emIA T~ $k5 680. 00 750. 2 510,136
m2

35 $kARavHY-PERERR (1) L& ~BERIEER Rt 203. 00 4,245 861,735
m3

36 E&ARIVYY-MEREH (2) LB ~BE R (R 96. 00 4,245 407, 520
m3




FBERRK TH2EEREERILANCENERTHRETIE (2R

no& 2, 455, 900
37 7RIS E (1) 750. 00 1, 700. 00 1,275,000
t
38 RIS & (2) 167. 00 1, 700. 00 283, 900
t

39 SkmRavU-pRSE (1) 203. 00 3,000. 00 609, 000
m3

40 SFRIVYY- PR (2) 96. 00 3,000. 00 288, 000
m3

BEYRZELT 5,556, 055

UhY- IR L 4,807, 055

41 gRERIVYY-FERER L - FEIA (1) ARV 171.00 17, 210. 00 2,942,910
m3

42 SRERIVYY-FERER L - FEIA (2) ARV 40. 00 17, 210. 00 688, 400
m3

43 1v9Y-FERER L - &A1) IV 20.00 9, 787. 00 195, 740
m3

44 1v9)-FERER L - FEIA (2) AV 5.00 9, 787. 00 48,935
m3

45 $kFRavHY-EERR (1) L& ~BERIEER RithEE) 171. 00 4,245 725, 895
m3

46 SFRIVYY-PRER (2) T &R~ B & RIS Rt 40. 00 4,245 169, 800
m3

47 |- IER (1) T &R~ B &R MRS Rt 20. 00 1,415 28, 300
m3

48 |- IEER (2) T &R~ B & RIS Rt 5.00 1,415 7,075
m3

no#& 749, 000

49 SFhVY-PERL S E (1) 171.00 3,000. 00 513, 000
m3

50 FRIVYY-PERLSE (2) 40. 00 3,000. 00 120, 000
m3




BERNRE S2EERAEEILANESERIBEIS (2R

51 EFHavy)-1520n%E (1) 46. 00 2,000. 00 92, 000

t
52 VY- PR E (2) 12.00 2,000. 00 24,000

t
RE&T 125, 000
RE&T 125, 000
REZER 125, 000
53 RRES EITERM 10. 00 12, 500. 00 125, 000

AH

HEREEGFEL) , 835, 200
HBREE , 835,200
EfRE , 835,200
BEEmERE , 835,200
54 ERFMEWMERE (1) WmBlRAIL-y 18 28 200 1,814, 000. 00 628, 000

[
55 ERFRMEMERE (2 SRS DA MEIRAI-Y 185 200 603, 600. 00 1207, 200




wiEx TH2EEREERILANCENERTHRETIE (2R

4 g B - KT Bifg B 2 B ® = W=
EEIEE 50, 263, 734
MEIEE 10,350, 789 + 19, 973, 859 30, 324, 648
HEREZE GDH 4,835,200 + 5,198,323 + 317,266 10, 350, 789
£BRBE (FEL) 4,835, 200
£BREE (R) 46,831,746 x 11.10% 5,198, 323
BISBERER 45,323,834 x 0.70% 317, 266
RiGEER 57,182,535 x 34.93% 19, 973, 859
TERI 50, 263, 734 + 30, 324, 648 80, 588, 382
—REEES 77,156,394 x 16.20% (16.20% x 1.00) 12, 499, 335
LR E 77,156,394 x 0. 04% 30, 862
TH{Mts 80,588,382 + 12,499,335 + 30, 862 93,118,579
HBEREALE 93,118,579 x 10.00% 9,311,857
FEIEE 93,118,579 + 9,311,857 102, 430, 436




Bifik-EIT/ \vr—>

TH2FEEMEELARBEARTEHETE (2R

&5 1
A ¥ BEERPHCHIfEIE (1) 6300 L=13.0m 1RxEY
% 5 R - AR R B3 H 2 i £ & &
T AR—AEtHEER
A 0.294 24, 360. 00 7,161
LU
A 0. 588 24,990. 00 14, 694
HREEER
A 0.294 23, 000. 00 6, 762
LTEEXE
A 0. 441 20, 480. 00 9, 031
h-5XK7-At-1 EEn HEhl3m % 55kW
=] 0.294 190, 200. 00 55,918
ho-340-08sx
=] 0.294 99, 120. 00 29,141
Ny IR Pext1 - (LFE0. 45m3
=] 0. 441 45,110. 00 19, 893
HHE (E+LFEHH) 2EN%
% 40. 000 142, 600. 00 57, 000
= it 1EZHED 1. 00K 199, 600. 00 199, 600

FHEERSMEE T L
FHE—FEMIE : HY [1.0500]

BrfEIRIHIRIC &k HHIE - 1L




Bifik-EIT/ \vr—>

TH2FEEMEELARBEARTEHETE (2R

&5 :2
ZF : BEERPHCHIEIE (2) 6300 L=14.0m 1RxEY
% 5 R - AR R B3 H 2 i £ & &
T AR—AEtHEER
A 0.303 24, 360. 00 7, 381
LU
A 0. 606 24,990. 00 15,143
HREEER
A 0.303 23, 000. 00 6, 969
LTEEXE
A 0. 455 20, 480. 00 9,318
h-5XK7-At-1 EEn HEhl3m % 55kW
=] 0.303 190, 200. 00 57, 630
ho-340-08sx
=] 0.303 99, 120. 00 30, 033
Ny IR Pext1 - (LFE0. 45m3
=] 0. 455 45,110. 00 20, 525
HHE (E+LFEHH) 2EN%
% 40. 000 146, 999. 00 58, 701
= it 1EZHED 1. 00K 205, 700. 00 205, 700

FHEERSMEE T L
FHE—FEMIE : HY [1.0500]

BrfEIRIHIRIC &k HHIE - 1L




Bifik-EIT/ \vr—>

TH2FEEMEELARBEARTEHETE (2R

%5 :3
A F : BEERPHCHI#EE (3) 6300 L=16.0m 1RxEY
% 5 R - AR R B3 H 2 i £ & &
T AR—AEtHEER
A 0.333 24, 360. 00 8, 111
LU
A 0. 666 24,990. 00 16, 643
HREEER
A 0.333 23, 000. 00 7,659
LTEEXE
A 0. 500 20, 480. 00 10, 240
h-5XK7-At-1 EEn HEhl3m % 55kW
=] 0.333 190, 200. 00 63, 336
ho-340-08sx
=] 0.333 99, 120. 00 33, 006
Ny IR Pext1 - (LFE0. 45m3
=] 0. 500 45,110. 00 22,555
HHE (E+LFEHH) 2EN%
% 40. 000 161, 550. 00 64, 550
= it 1EZHED 1. 00K 226, 100. 00 226, 100

FHEERSMEE T L
FHE—FEMIE : HY [1.0500]

BrfEIRIHIRIC &k HHIE - 1L




Bifik-EIT/ \vr—>

TH2FEEMEELARBEARTEHETE (2R

EF5:4
£ F : BESRPHCHIE (4) 6350 L=16.0m 1x%Y
% 4 RAE - MRk BfL % 8 {if ® # 1 -]
TAR—ARHEER
A 0.333 24, 360. 00 8 111
LUI
A 0. 666 24, 990. 00 16, 643
HREXE
A 0.333 23, 000. 00 71,659
TREXE
A 0.500 20, 480. 00 10, 240
hn-3=7-21-1" Eén B3 3 FF 55k
H 0.333 190, 200. 00 63, 336
ho-390-vEExR
H 0.333 99, 120. 00 33, 006
Ny R BEx1R - 1LF50. 45m3
H 0.500 45, 110. 00 22,555
HME (E+FDHD) EXZNOLT
% 40. 000 161, 550. 00 64, 550
=) &t EERED - 1.00K 226, 100. 00 226, 100

FHEERSMEE T L
FHE—FEMIE : HY [1.0500]

BrfEIRIHIRIC &k HHIE - 1L




Bifik-EIT/ \vr—>

TH2FEEMEELARBEARTEHETE (2R

&5 :5
A F5 : BEERPHCHUEE (B) AFE G300 L=14.0m 1RxEY
% 5 R - AR R B3 H 2 i £ & &
T AR—AEtHEER
A 0.303 24, 360. 00 7, 381
LU
A 0. 606 24,990. 00 15,143
HREEER
A 0.303 23, 000. 00 6, 969
LTEEXE
A 0. 455 20, 480. 00 9,318
h-5XK7-At-1 EEn HEhl3m % 55kW
=] 0.303 190, 200. 00 57, 630
ho-340-08sx
=] 0.303 99, 120. 00 30, 033
Ny IR Pext1 - (LFE0. 45m3
=] 0. 455 45,110. 00 20, 525
HHE (E+LFEHH) 2EN%
% 40. 000 146, 999. 00 58, 701
= it 1EZHED 1. 00K 205, 700. 00 205, 700

FHEERSMEE T L
FHE—FEMIE : HY [1.0500]

BrfEIRIHIRIC &k HHIE - 1L




Bifik-EIT/ \vr—>

TH2FEEMEELARBEARTEHETE (2R

&S :6
L5 : BEERPHCHIZE (6) AFEH350 L=14.0m 1ALy
£ 7 R - BIRTiE BARL #H = BO(f ) i s &
TR—AEHEER
A 0.303 24, 360. 00 7, 381
LU
A 0. 606 24,990. 00 15,143
R IEXE
A 0.303 23, 000. 00 6, 969
LEEXE
A 0. 455 20, 480. 00 9,318
hn-3K7-2t-1" Eén BE3E T F b5kW
=] 0.303 190, 200. 00 57, 630
ho-39V-v3BEx
=] 0.303 99, 120. 00 30, 033
Ny R HExt1k - (LFRO. 45m3
=] 0. 455 45,110. 00 20, 525
B (E+ELD) 2KD%
% 40. 000 146, 999. 00 58, 701
= it YEZERED 1. 00K 205, 700. 00 205, 700
TIEERESMEIE AL
FHIHE—IEMIE - HY [1.0500] BERBOBIRIIC K B HHIE - L
&5 .17
2% MEE B (PHCHEEDE) 1%y
£ 7 R - BIRTiE BARL #H = BO(f ) i s &
MHE By (PHCHUEERR)
m3 141. 920 2, 500. 00 354, 800
= it YEZERED 1. 00 354, 800. 00 354, 800

FHEERSMEE T L
FHE—FEMIE : HY [1.0500]

BrfEIRIHIRIC &k HHIE - 1L




Bifik-EIT/ \vr—>

TH2FEEMEELARBEARTEHETE (2R

%5 :8
B W))-MEIRL - A () #KEIV)Y-H Tm3HY
2 Lo R - KT B B = i | # B &
BB EY BRE #BWET S8
m 3 1.000 17, 208. 30 17, 208
HMEE (F50)
= 1.000 17, 208. 00 2
& it 1E%HEH : 1.00m 3 17,210. 00 17,210
FISEFRESMEE T L
FIE—IEME - Y [1.0500] FFRIROHIRIC & BHHIE - %L
&5 :9
B W))-MEIRL - FEA () #KERIV)Y-H Tm3HY
2 Lo R - BAK~TiE B B = i | # B &
BB EY BRE #BWET S8
m 3 1.000 17, 208. 30 17, 208
HMEE (F50)
= 1.000 17, 208. 00 2
& it 1E%HEH : 1.00m 3 17,210. 00 17,210
FISEFRESMEE T L
FIE—IEME - Y [1.0500] FFRIROHIRIC & BFHIE - %L
H5:10
B BV EGER (1) EIER~BEREERS R Tm3HY
2 Lo R - KT B B = i | # B &
EEIVY- MEE (1) L& ~BERIEES GRIMER)
m 3 1.000 4, 245 4,245
& &t {EZHEH : 1.00m 3 4, 245 4,245
FISEFRESMEE T L
FIE—IEME - Y [1.0500] FFRIRHIRIC & BFHIE - %L
#5511
B BV EGERE (2) ISR ~BERIEER R Tm3HY
2 Lo R - KT B B = i | # B &
EEIV- MEE (2) L&A ~BERIEES GRIMR)
m 3 1.000 4,245 4,245
=) it 1E%HEH : 1.00m 3 4,245 4,245

FEERSMEE T L
FHE—IEMIE - HY [1.0500]

BrfERIHIRIC &k HHIE - 1L




Bifik-EIT/ \vr—>

TH2FEEMEELARBEARTEHETE (2R

H5 :12
B BV - E (1) 100m3 %Y
2 Lo R - KT B B = B M € &8 # B &
nosE EHAV))- PR
m3 100. 000 3,000. 00 300, 000
& it 1E%HEH : 100.00m 3 3,000. 00 300, 000
FISEFRESMEE T L
FIHE—IEMIE - HY [1.0500] EERAIFIFIC K BMIE - AL
H5:13
B BV E (2) 100m3 %Y
2 Lo R - BAK~TiE B B = B M € &8 # B &
nosE EHAVY)- PR
m3 100. 000 3,000. 00 300, 000
& it 1E%HEH : 100.00m 3 3,000. 00 300, 000
FISEFRESMEE T L
FIHE—IEMIE - HY [1.0500] EERAIFIFOIC K BMIE - 7L
H5: 14
L5 - HEEI Tm3HY
2 Lo R - KT B B = B f € &8 # B &
HEHl
m3 1.000 297.5 297.5
& it 1E%HEH : 1.00m 3 297.5 297.5
FISEFESMEE T L
FIHE—IEMIE - HY [1.0500] EERAIFIFOIC K BMIE - 7L
H5 : 15
&% BREL Im38Y
2 Lo R - KT B B = B M € &8 # B &
HRL
m3 1.000 197.5 197.5
= it 1E%HEH : 1.00m 3 197.5 197.5

FEERSMEE T L
FHE—IEMIE - HY [1.0500]

BrfERIHIRIC &k HHIE - 1L




Bifik-EIT/ \vr—>

TH2FEEMEELARBEARTEHETE (2R

H5: 16
2% . tREAA TEIYG Tm3%HY
2 Lo R - KT B B = B M | # B &
TRFEAH THY 5
m 3 1.000 191.9 191.9
& it 1E%8BEHN - 1.00m 3 191.9 191.9
FISEFRESMEE T L
FIFE—IRMIE - HY [1.0500] FFRIROHIRIC & BHHIE - %L
&H5 17
B TEEH TEYZE~EISRA Tm3%HY
2 Lo R - BAK~TiE B B = B M | # B &
T REK TERY IS~ TIER
m 3 1.000 492. 4 492. 4
& &t {EZHEH : 1.00m 3 4992 4 492 4
FISEFRESMEE T L
FIFE—IRMIE - HY [1.0500] FFRIRHIRIIC & BHHIE - %L
&5 :18
A tAVNEE ) ¢1,000 L=0.25m Tm3%HY
2 Lo R - KT B B = B f | # B &
EHBEY BRE #BWET S8
m 3 1.000 9,787.70 9,787
HMEE (F50)
= 1.000 9,787.00 0
& it 1E%BEHN - 1.00m 3 9,787.00 9,787
FISEFESMEE T L
FIFE—IRMIE - HY [1.0500] FFRIRHIRIC & BFHIE - %L
H5:19
B tAVNEE(2)  ¢1,000 L=0.55m Tm3%HY
2 Lo R - KT B B = B M | # B &
EHBEY BRE #BWET S8
m 3 1.000 9,787.70 9,787
HHEE (F50)
= 1.000 9,787.00 0
=) it 1E%BEHN - 1.00m 3 9,787.00 9,787

FEERSMEE T L
FHE—IEMIE - HY [1.0500]

BrfERIHIRIC &k HHIE - 1L




Bifik-EIT/ \vr—>

TH2FEEMEELARBEARTEHETE (2R

H5:20
&F: BAVNEER Q) 61,000 L=1.00m Tm3&HY
2 Lo R - KT B B = B M | # B &
EHBEY BRE #BWET S8
m3 1.000 9,787.70 9,787
RHE (F59)
= 1.000 9,787.00 0
& it 1E%HEH : 1.00m 3 9,787.00 9,787
FISEFRESMEE T L
FIHE—IEMIE - HY [1.0500] EERAIFIFIC K BMIE - AL
&H5: 2
&F: BAVNEER @) 61,000 L=1.80m Tm3%HY
2 Lo R - BAK~TiE B B = B M | # B &
EHBEY BRE #BWET S8
m3 1.000 9,787.70 9,787
RHE (F50)
= 1.000 9,787.00 0
& it 1E%HEH : 1.00m 3 9,787.00 9,787
FISEFRESMEE T L
FIHE—IEMIE - HY [1.0500] EERAIFIFIC K BMIE - AL
55 :22
&F: HVNEERG) 61,100 L=0. 25m Tm3&HY
2 Lo R - KT B B = B f | # B &
EHBEY BRE #BWET S8
m3 1.000 9,787.70 9,787
RHE (F59)
= 1.000 9,787.00 0
& it 1E%BEHN - 1.00m 3 9,787.00 9,787

FHHEERSMEE T L
FHE—EMIE : HY [1.0500]

BrfEIRIHIRIC &k HHIE - 1L

10




Bifik-EIT/ \vr—>

TH2FEEMEELARBEARTEHETE (2R

H5:23
&F: BAVNEERG6) 61,100 L=0. 35m Tm3&HY
2 Lo R - KT B B = B M | # B &
EHBEY BRE #BWET S8
m3 1.000 9,787.70 9,787
RHE (F59)
= 1.000 9,787.00 0
& it 1E%HEH : 1.00m 3 9,787.00 9,787
FISEFRESMEE T L
FIHE—IEMIE - HY [1.0500] EERAIFIFIC K BMIE - AL
H5:24
&F: BVNEEWRT) 61,100 L=0. 55m Tm3%HY
2 Lo R - BAK~TiE B B = B M | # B &
EHBEY BRE #BWET S8
m3 1.000 9,787.70 9,787
RHE (F50)
= 1.000 9,787.00 0
& it 1E%HEH : 1.00m 3 9,787.00 9,787
FISEFRESMEE T L
FIHE—IEMIE - HY [1.0500] EERAIFIFIC K BMIE - AL
H5:25
&F: HAVNEER @) 61,100 L=0. 65m Tm3&HY
2 Lo R - KT B B = B f | # B &
EHBEY BRE #BWET S8
m3 1.000 9,787.70 9,787
RHE (F59)
= 1.000 9,787.00 0
& it 1E%BEHN - 1.00m 3 9,787.00 9,787

FHHEERSMEE T L
FHE—EMIE : HY [1.0500]

BrfEIRIHIRIC &k HHIE - 1L

1




Bifik-EIT/ \vr—>

TH2FEEMEELARBEARTEHETE (2R

H5:26
&F: HVNEERO) 61,100 L=1.80m Tm3&HY
2 Lo R - KT B B = B M | # B &
EHBEY BRE #BWET S8
m3 1.000 9,787.70 9,787
RHE (F59)
= 1.000 9,787.00 0
& it 1E%HEH : 1.00m 3 9,787.00 9,787
FISEFRESMEE T L
FIHE—IEMIE - HY [1.0500] EERAIFIFIC K BMIE - AL
&H5 2]
B BEHIV))-IHEW RIS ~BE RIS GRHMER) Tm3HY
2 Lo R - BAK~TiE B B = B M | # B &
EH V) -IHER L& ~BERICIEE GRULER)
m3 1.000 1,415 1,415
& it 1E%HEH : 1.00m 3 1,415 1,415
FISEFRESMEE T L
FIHE—IEMIE - HY [1.0500] EERAIFIFIC K BMIE - AL
H5:28
B \EAV)- RN E 100t 4y
2 Lo R - KT B B = B f | # B &
nong& |- IR
t 100. 000 2,000. 00 200, 000
& it 1EZHES - 100.00 t 2,000. 00 200, 000
FISEFESMEE T L
FIHE—IEMIE - HY [1.0500] EERAIFIFOIC K BMIE - 7L
H5:29
B TAVINVMEZEAREE - A (1) t=15emATF Tm2%4y
2 Lo R - KT B B = B M | # B &
TAIThMEESERR IS - A (1) t=15cmEL T
m 2 1.000 528. 1 528. 1
=) it 1E%HEN : 1.00m 2 528. 1 528. 1

FEERSMEE T L
FHE—IEMIE - HY [1.0500]

BrfERIHIRIC &k HHIE - 1L

12




Bifik-EIT/ \vr—>

TH2FEEMEELARBEARTEHETE (2R

H5:30
B TAITNMEEREE - FEA (2)  t=15emA T Tm2%Yy
£ 7 R - KT B B = i & ) W E s &
TRAITMMREERRIBE - RIA (2) t=15cmAF
m 2 1. 000 528.1 528.1
& it 1E%HEN : 1.00m 2 528. 1 528.1
FISEFRESMEE T L
FIFE—IRMIE - HY [1.0500] FFRIROHIRIC & BHHIE - %L
&E#S : 31
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